CMEZ AR ERRARET

CM Series Stainless Steel Mini Type Cylinder

1T M5 Ordering Code

™M - O - 20 x 50 - [
#iI4% Bore
AT, Cushion t
SE, WAL, WA . P pHsnonpe
] SA. Efbﬁ%}iﬂj&z 20~40mm l
Series Code SB: $Kbg§%E@; ) =A: RRE
Blank: Double Acting With Magnet A SEm
SA: Single Acting Spring Extend 17%2 Storke Bl.ank- Rubber cushion
SB: Single Acting Spring Return l A: Air.cushion
0~1000mm
1 Specification
P2 Bore (mm) 20 25 | 32 40

ER=(/Motion Pattern

Sxhalsl E5A Double Action or Single Action

T B/ Working Medium

2225 u migigig=S  Clear Air (25 u m filteration )

T{EEHI/Working Pressure

0.5~10Bar ( £zp2! Double Acting)  1.8~10Bar ( Exh3#E EREIE! Single Acting Spring Return )
2.3~10Bar ( Ezh&EEHE Single Acting Spring Extend ) —
=

T{EiBE/Working Temperature

-10~70°C ( RHf#EA Without Magnet) -10~60°C ( fi#a With Magnet)

Cylinder

£&4E5(/Cushion Type

BEED (ff) , S8% ({5%) Rubber Cushion (Basic), Air Cushion (Optional)

{FEFIEE/ Speed Range

&/\ Min: 50mm/s X Max: 750mm/s

1TF2AZE/Tolerance of Stroke (mm) +10'4
RERZER Internal Structure
1 2\3 45 6 7 8 9 10 11 12 13 14 15
[t 52
L g
F= NO. %R Designation F= NO. Z#R Designation F= NO. &%} Designation
1 B283 Nut 6 BiE= Front Cover 11 ®A Magnet
2 TRZEF Piston Rod 7 &2 Barrel 12 iR Wear Ring
8 4 Piston Rod Seal 8 Fh#E# A Anti-crash Buffer 1% &EB20< Cover O-ring
4 2ifsh& Bearing 9 SEZE Pistion 14 NAIZR Hexagon Nut
5 RIE=2R Front Cover Nut 10 TREZEM Pistion Seal 15 &% Bank Cover




CM R IR ARAL

CM Series Stainless Steel Mini Type Cylinder

2 Overall Dimension

X348 ?:‘Tmszs = 2NN
E KA Basic Type CoverBi  pr M
]
I ) 1 V2| B — AL - £
/ o~
AL
MM / it
A _|K 15|
H S+{7#2Stroke F
ZZ+17#2Stroke

R~} 3 Dimension Sheet

R | TEeE
e | S s A | AL [B1[B2| D E F|G|H|Hi|H2| | K MM N | NA NN P|S|ZzZ |WA|  WB
20 ~300 18115.5[13|26| 8 | 20 901033 13| 8 [41| 5 28 | 5 | M8x1.25 | 15 | 24 |M20x1.5|1/8|62|116| 13 | 8.5
25 ~300 22119.5/17 32|10 | 26 %5 | 13| 8 |45 6 33.5|55|M10x1.25| 15 | 30 |M26x1.5[1/862|120| 13 | 10
32 ~300 22119.5|17(32[12] 26 %05 | 13| 8 | 45| 6 37555 M10x1.25| 15 [34.5|M26x1.5|1/8|64|122| 13 |11.5
40 ~300 24| 21 (224114 | 32 90,039 161150 | 6 |10|46.5| 7 | M14x1.5 [215|42.5] M32x2 |1/4188|154| 16 | 15
YMFZR<F Overall Dimension
BEARR x4148; Hy O pussEi P [E B I‘G*I Z-NN
i 3t 38B1 overB2 P Spring Extend P Spring Return
Basic Type  Zlers, Hi BE
— 2
s - D<)~ — =] ——14
N
MM _/
1.5
L F_ | _N
A I 1.5
HEE [E1Spring Return H
3% [E 1 Spring|Extend H+{T#2Stroke S+{T7#2Stroke B
3% [ [ Spring Return ZZ+17#2Stroke
3§ & £ HSpring Extend ZZ+2 X {712
* B A B haEEE IR [E] This chart is for CM2SB type ( Single acting spring return)
JR<JZ Dimension Sheet
4
g?)f A | AL | B1 | B2 | D E F |G| H/|H:|H| K MM N | NA NN P
20 18 | 15,5 | 13 26 8 20 %03 | 13 8 41 5 28 5 M8 x 1.25 15 24 | M20x1.5 | 1/8
25 22 | 195 | 17 32 10 26 %02 | 13 8 45 6 33.5| 55 |M10x1.25| 15 30 | M26x1.5 | 1/8
32 22 19.5 17 32 12 26 %03 | 13 8 45 6 375 | 55 |M10x1.25| 15 | 34.5 | M26x1.5 | 1/8
40 24 21 22 41 14 32 %oz | 16 11 50 8 10 | 46.5 7 M14x1.5 | 21.5 | 42.5 M32 x 2 1/4
g7& | 1772 Stroke 1~50 51~100 101~150 151~200 201~250
Bore | f{5 Symbol S 7z S 7z S 7z S 77 S 77
20 87 141 112 166 137 191 - - - -
25 87 145 112 170 137 195 - - - -
32 89 147 114 172 139 197 164 222 - -
40 113 179 138 204 163 229 188 254 213 279

87



CMZRI R FERE(RET

CM Series Stainless Steel Mini Type Cylinder

B2 URYSIERE Original Single U—type Seat

3 % [E [ Spring Return ZZ+17#2Stroke
3 % [E i Spring Extend ZZ+2 X {7#2Stroke

3# % £ B Spring Return Z+{7#2Stroke
3# % [E HSpring Extend Z+2 X {T7#2Stroke

#E [ [ESpring Return H LP
3 % £ HSpring Extend H+{T#2Stroke R NA
L
x$i4B NN EEE L 2-P BEEE 2-P ®CD H10"2%%*
Cover Spring Extend Spring Return Al o
I\

H1 4 T ]%
L | T b

OEN8
oD
f
|
|
i
i
i
i
i
i
i
i
|
LH

3
>
—
/-
i

= | 1.5 .
'_
F | G O LV
N [T 1
LF LG B3 B UBR S IERE

) _ LY Original single U-type seat

3 & [E [ESpring Return LZ+{T#2Stroke

3 Z& £ HSpring Extend LZ+2 X {7#2Stroke

*IHE o SR w3 EE ]
*This chart is for CM2SB type ( Single acting spring return)
JR<JZ Dimension Sheet
SiL
Cylinder

=3
I?o{rz A|AL | B [CD|CX| D E F|G|H|HT|H2| | K| L MM N | NA NN P |RR| U
20 1815513 | 8 [12| 8 | 20%0s | 13| 8 | 41| 5 28 5 12| M8x125 | 15 | 24 | M20x1.5 [1/8] 9 |11.5
25 22 (19517 | 8 |12 |10 | 26 % | 13| 8 | 45| 6 | 8 |33.5|55| 12 | M10x1.25 | 15 | 30 | M26x1.5 [1/8 9 [11.5
32 22 119517 |10 |20 | 12| 26 %3 | 13| 8 | 45| 6 37.5|55| 15 | M10x1.25 | 15 | 34.5 | M26x1.5 [1/8] 12 |14.5
40 241 21 [ 22 (10|20 |14 | 32 %0 | 16| 11|50 | 8 [ 10| 465 | 7 | 15| M14x15 |21.5| 425 | M32x2 |1/4| 12 |14.5
HE 17%2 Stroke 1~50 51~100 101~150 151~200 201~250
Bore |te= Symbol| S Z 77 S Z 77 S A 77 S Z YA S A 77
20 87 140 149 112 165 174 137 190 199 - - - - - -
25 87 144 153 112 169 178 137 194 203 = = = = = =
32 89 149 161 114 174 186 139 199 211 164 224 236 - - -
40 113 178 190 138 203 215 163 228 240 188 253 265 213 278 290

EREEEURISIERE Original Single U—-type Seat

T ” Lz
BHS | W& |y Flie|tH]| | LT | LV | LY
PartNo. | Bore 150 | 51~100 | 101~150 | 151~200 | 201~250
20 6.8 15 30 30 37 3.2 18.4 59 177 202 227 - -
CM-E020B
25 6.8 15 30 30 37 3.2 18.4 59 181 206 231 - -
32 9 15 40 40 50 4 28 75 199 224 249 274 -
CM-E032B
40 9 15 40 40 50 4 28 75 228 253 278 303 328




CM R FI RGN REARIL

CM Series Stainless Steel Mini Type Cylinder

Ere ik

Mounting Accessories

IEE Foot Base %= Flange

4-OFD c2
R¥FLPort

NN\ n
T A\ A P oo R .
/ = pu} o
Tl Ii‘ L ‘il 2-OFD - EX | FT
’L’ILL_ L2 23 FLPort EZ .LL_
©20~d32
iz IEE/Foot Base i==/Flange
FHS FHS
Bore | FHS | x | v |oD|oLC| X | LZ |LH | LT | B | =S | FD|FY |FX|FZ |Fz | B | FT
20 CM-L0208B | 20 | 8 | 68 | 4 | 40 | 55 | 25 | 32| 40 |cm-Fo20B | 7 | - | 60 | 75 | 30 | 34 | 4
25 cM-L0258 | 20 | 8 |68 | 4 | 40 | 55 | 28 | 32| 47 [cm-Fo2sB | 7 | - [ 60 | 75 | 37 | 40 | 4
32 CM-L032B | 20 | 8 | 68| 4 | 40 | 55 | 28 | 32 | 47 |cm-Fo32B | 7 | - | 60 | 75 | 37 | 40 | 4
40 cM-L040B | 23 | 10 | 7 | 4 | 55 | 75 | 30 | 32| 54 |[cm-Fos0B | 7 | 36 | 66 | 82 [473| 52 | B
EUAM4 Single U-type WUE4ES Double U-type Hi Bearing
l PDCDH10:*** [o]] DCDH105>°* [o)]
TTT . iy
TR e . e
V) = %
C_ | RR \ X g
- BUBLE/Single U-type IUZBLEA/Double U-type Eif/Bearing
Bos | EES L |U|RR| oI [ocDlcx] ZEHS | L | u [RR|ocD|cx|cz| o | BHS |1x|T1z|™D|TY| Z | TT
Part No. Part No. Part No.

20 CM-C020B | 30 | 14| 9 | 28 9 |10|CM-D020B | 30 | 14 | 9 9 | 10|19 | 28 |CM-T020B | 32 | 52 | 8 | 32 | 36 | 10
25 CM-C025B | 30 | 14| 9 [335| 9 |10| CM-D025B | 30 | 14 | 9 9 | 10|19 | 33.5| CM-T025B | 40 | 60 | 9 | 40 | 40 | 10
32 CM-C032B |30 | 14| 9 [375| 9 |10|CM-D032B | 30 | 14 | 9 9 | 10|19 |37.5|CM-T032B | 40 | 60 | 9 | 40 | 40 | 10
40 CM-C040B | 39 | 18 | 11 | 46.5| 10 | 15| CM-D040B | 30 | 18 | 11 | 10 | 15 | 30 | 46.5 | CM-T040B | 53 | 77 | 10 | 53 |44.5| 11

IBY S pF 51k | Fitting YRR L Y Fitting FrRI2g ol d
N h Rod Nut T 7 i
o U
il J |
- 5 =
30 d
MM TR '
e E Fixing Nut E fj i
A1
H|. B
2 IBYEE 5 82SL/| Fitting YR AT T ESL/Y Fitting
= s
Bore PartNo. | A1|E1| L1 MM OND|NX| RT | U1| =307 | A1 | E1 | L1 MM ©ND| NX | NZ | R1 | U1
20 I-020B | 16 | 20 | 36 | M8x1.25 | 9 | 9 | 10 | 14| Y-020B | 16 | 20 | 36 | M8x1.25 | 9 | 9 | 18 | 12 | 14
25~32 I-032B | 18 | 20 | 38 | M10x125| 9 | 9 | 10 | 14 | Y-032B | 18 | 20 | 38 | M10x1.25 | 9 | 9 | 18 | 12 | 14
40 I-040B | 22 | 24 | 55 | M14x1.5 | 12 | 16 [155|20 | Y-040B | 22 | 24 | 55 | M14x15 | 12 | 16 | 38 | 13 | 25
R Hrimigf/Rod Nut LR/ Fixing Nut
Bore F{4E Part No. B c d H F4= Part No. B c d H D
20 NT-02 13 15 M8 x 1.25 5 SN-020B 26 30 M20 x 1.5 8 | 255
25~32 NT-03 17 19.6 M10x1.25 6 SN-032B 32 37 M26 x 1.5 8 | 315
40 NT-04 22 | 254 M14x1.5 8 SN-040B 41 | 473 M32x 2 10 | 405

89 WWw.Xinyipc.com.cn www.xinyipneumatic.com



	德捷catlogue-2021 86
	德捷catlogue-2021 87
	德捷catlogue-2021 88
	德捷catlogue-2021 89



